N = 0l & At & Ml A

20178 & 20

A A BHS A &l

SN D
M ofd Y AGHE FHI
& otd & AGHE 2t CEERED)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Gt == 1t 27,088,250 19,760,584 7,327,666
= 576,000
Xl 9,000,000
Al 17,512,250
ofd & AGHE &l 25,629,090 15,946,874 9,682,216
= 576,000
X 9,000,000
Al 16,053,090
of& Y AGHA 22| 20,022,090 1,066,470 18,955,620
Xl 9,000,000
Al 11,022,090
GHEA MEHSIE SJAALZ 18,000,000 1,000,000 17,000,000
Xl 9,000,000
Al 9,000,000
403 XIS E X201 & 18,000,000 1,000,000 17,000,000
Xl 9,000,000
Al 9,000,000
02 SO 2SO HSHAHE X CH e At H 18,000,000 1,000,000 17,000,000
OB MEictd =& At 18,000,000,000& 18,000,000
X 9,000,000
Al 9,000,000
otd Y AotE SXN=29Y 77,680 66,470 11,210
201 Lt 2| 77,680 66,470 11,210
01 At 22l 3,280 1,670 1,610
Oaxdtd2elfds 29+
70,0003 +7H %43 1,960
oHil2uld |RANE+ HEZ MI|LH ™2
el =2 110,000& =128 1,320
02 =224l 74,400 64,800 9,600
Ootd =2FEAAE 23Ul 2,400
— sS4l 110,000& =122 1,320
— N 22l 90,000& x12& 1,080
oHleud RAEE+ L 2 67,200
—&Jl=z 5,300,000& x12& 63,600
— CCTV S &l 300,000& »12& 3,600
OA2ctd JI2s 29| 400,000& 123 4,800
ot EHl & KX el A 1,944,410 0 1,944,410
401 Al Bl & 28I 1,944,410 0 1,944,410
01 A& HI 1,940,000 0 1,940,000
Odtd&EHl ¥ |X2elAtY 700,000,000& 700,000
OaZ=NE MH=SAAMY AFAZL2LEHE 849
25,000,000& 25,000
OAGHEEH SEAHE(HE) =829
850,000, 000& 850,000
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2AM: Gt
M ofd Y AGHE FHI
& otd & AGHE 2t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OTHAME =48 Jl=2 & A&
365,000,000 365,000
03 Al 2 THHI 4,410 0 4,410
Octa &t & sA22lAE
700,000, 000& *0.63% 4,410
MEHOHE SEAEY 5,607,000 14,880,404 AQ,273,404
= 576,000
Al 5,031,000
AE2HE HEHSJ ALY 5,000,000 13,988,804 A 8,988,804
401 Al HI K 201 5,000,000 13,988,804 8,988,804
01 A& HI 5,000,000 13,405,290 A 8,405,290
Ou==Hd HEH=3 ALY 5,000,000, 000& 5,000,000
HIEHE MHBH=IMY 29I 31,000 27,600 3,400
201 ¢4l 30,000 25,000 5,000
01 At 2t 2l 30,000 25,000 5,000
O&==ME ME=JAY 2 10,000,000 10,000
ONZEHE MEHSAANY WA K
20,000,000& 20,000
203 YR =2l 1,000 2,600 A 1,600
03 A BFAH S =AY 1,000 2,600 A 1,600
OMD=NE MEIZHANY PREX
1,000, 000& 1,000
HIEME FRNEF S AHY 576,000 864,000 A 288,000
= 576,000
401 Al HIZ 2018 576,000 864,000 A 288,000
= 576,000
01 A& HI 576,000 864,000 A 288,000
OdI=ME RN Ex B2 ALY
576,000,000& 576,000
= 576,000
ofd & AGH™ Fl 1,459,160 0 1,459, 160
ZEZRMatzte] 1,459,160 0 1,459,160
23S MHatzte] 1,459,160 0 1,459,160
201 £B-2dH| 6,000 0 6,000
01 At 22/l 6,000 0 6,000
O= - ML S22 6,000,000& 6,000
305 et =S 1,453,160 0 1,453, 160
01 HH&aZSE 1,453,160 0 1,453, 160
oHa= 1,453,160
—Ha3 1,309,313,300& 1,309,314
— Ol Xt 1,309,313,300% x0.05+2022 /3652 36,231
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E2M: ot
Nz Gl L AGHE |
SHel: 2T RR 2
HE T -
O &t 2 HRS

SN FH-SA(EN) - MBAY - BES

Off &t 24

107,615

— Ol &t 1,309,313,300% 0. 152002 /3652
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